Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name : Object Oriented Programming with C++
Subject Code : 2TE040OOP1 Branch: Diploma (CE)
Semester : 4 Date : 15/04/2019 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Child class in inheritance is also known as which class?
(A)Base class (B) Sub class (C) Super class (D) None of these
b) Private members of the class are not inheritable.

(A)True (B) False (C) Maybe (D) None of these
c) While overloading binary operators using member function, it requires
____argument/s.
(A)One (B) Two (C) Three (D) Four
d) Can a class be declared/defined inside another class?
(A)Yes (B) No (C) Maybe (D) None of these
e) Object oriented programming employs programming
approach.

(A)Random (B) Top down (C) Bottomup (D) None of these
f) Which of the following is not a type of constructor?
(A)Friend (B) Copy (C) Default (D) Parameterized
g) Which of the following concepts means wrapping up of data and
functions together?
(A)Polymorphism  (B)Inheritance (C) Abstraction (D) Encapsulation
h) Which of the following operator is used with cout?
(A)>> (B) << (€ + (D)=
i)  Which of the following is not a type of inheritance?
(A)Multiple  (B) Multilevel (C) Distributive (D) Hierarchical
j)  Which of the following header file includes cin and cout?
(A)iomanip.h  (B) iomath.h (C) stdio.h (D) iostream.h
k) Which of the following provides a reuse mechanism?
(A) Abstraction (B) Encapsulation (C) Inheritance (D) Message
passing
I)  Which of the following is an abstract data type?
(A) Class (B)int (C)float (D) double
m) Which of the following is the instance of class?
(A)pointer (B) object (C) code (D) variable
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Which stream is connected to standard output?
(A)cin  (B) out (C)cout (D) None of these

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-7

Q-8

Q-1

(A)
(B)
(©)

(A)
(B)

(A)
(B)

(A)
(B)
(A)
(B)
(A)
(B)

(A)
(B)

Attempt all questions

Mention basic concepts of OOP. Explain any 6 in detail

State the benefits of OOP.

Write down applications of OOP.

Attempt all questions

Write down difference between POP and OOP.

Explain the structure of C++ along with an example.

Attempt all questions

What is manipulator? Explain types of manipulators with example.
What is constructor? Explain its various types.

Attempt all questions

What is inheritance? Mention names of various types of inheritance and
explain them with its basic structure.

What is an expression? Write down names of various types of expression
and explain any 4 types of expressions with example.

Attempt all questions

Explain various types of C++ stream classes.

Explain inline function with example.

Attempt all questions

Explain operator overloading with example.

What is type conversion? Mention various types of type conversion and
explain any one in detail.

Attempt all questions

Write a C++ program to swap two variables using third variable.

Write a C++ program to find maximum of five numbers using an array.

Attempt the following questions:
SodR2o Hl ATES sl A sl <l A3 URL ALl Hl U B
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o(3
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d)

f)

9)

h)

)

K)

1)

9 a0l oflost colofl vieR @R 53 st / catvaulRd 531 asia?
(A) &l (B)oll (C)sElA (D) wHill s Ul o3

wlosgse dell Woatlol Yot BloL A A6l GURADL 52 B,
(A) 2SH  (B) 21U SIBat (C) 6ll2lH GU (D) vutHiell A5 uaL 1@
o(lA WUl 53 sre5eR ol?

(A) 35 (B) S\l (C)B8ce (D) WAM2ASAS

o(lA WMl sl sleAUaoAl W B 32l Wal 1Al As WA
du2d?

(A) AQRS»U (B) SosR2c  (C) W05t (D)

AL EAE G

cout WA ol A WAHI] 5165 QU2 Rl GUADL SR AHL A B?
(A)>> (B) << ©)+ (D) =

(1A WA 52 SodReo oll YsiR alell?

(A) HElud  (B) H@Add (C) BRRoydla (D) slaRislsc

o{lA AL 352 SISEAHL cin Vel cout WAA B?

(A)iomanip.h  (B) iomath.h (C) stdio.h (D) iostream.h

o(lA AU Uil 58 203 AFERBH Yelat 52 ©?

(A) A05A0l (B) Weld W Aot (C) SodReat (D) A ULl

o{lA WA HIYL 585 As ANorPse Sel 2LeSU B?
(A) Class (B)int (C)float (D) double

M) o1 At 50 sEURAA Soreod B?

n)

(A) W82 (B) ¥eBse (C) sls (D) A3llac
RlosS B2y U 585 WU AslAcl B2
(A)cin  (B) out (C)cout (D) vutHiell As ual«i(d

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(A)
(B)
(©)

(A)
(B)

Attempt all questions
00P ol 4ne{d ABs SleA U2 oll GeAW 5. (AdLAcllR 6 SlESURL

Al
OO0P il slauelRAle{l YA vlotl .

00P ol W@} 2lcoll YA oot
Attempt all questions

POP el OOP A€ ULSall3] ellodcd Rl
C ++ YlollH o 25U GELERQL WA UH 1.

TR
S
S
3@
- e
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Q-4

Q-5

Q-6

Q-7

Q-8

(A)
(B)

(A)

(B)

(A)
(B)
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(B)

(A)

(B)

Attempt all questions

AR A2R 9 B? GElsWL A NolligyAzRell YsIRA AH1A.

sor25eR 9 8?2 doll (AlAu ysiA Aot
Attempt all questions
SoaReod 9 B? (AlAU YslRell SodReo oll ollHoll GCAW 5 Aol

Aotl HOu HIOWAL AL AHL A,
AsUYUol 9 B? (A[AU YslRell AsuYUotoll ol AW Wl BELER

AL SIEURL 4 UslRetl WsUYAAB AHLCAL
Attempt all questions
(AL YslRell C ++ FLH Sl AH A,

GELERVU AU SolclBat §52lal UL
Attempt all questions
GELER0QL UL B UR2R B RAUSIL UM A.

2B U socl03et 9 B2 [AlAU 218U SoclRMotall GeAM 53 Wl

REGEEREEERE
Attempt all questions
Aot ARAUAA GUAIL 53A A {64 AU Sl HIS C ++ YIUH

AL
Aol GUAL 531 Ul oledR Ml HeH olelR 2l HIR C ++
YU H AW
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